'ﬁil'l’ﬂ'ﬂ"f ‘ 7 INSTALLATION INSTRUCTIONS

PASSENGER DRINK HOLDER, RIGHT SIDE 1832

Thank You For Choosing Kiryakyn!

Protect yourself and others from potential injury and property damage or loss. Pay close attention to all instructions, warnings, cautions, and notices
regarding the installation, use, and care of this product.

THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE CONTENTS DESCRIBED HEREIN CAN

A WARNING RESULT IN POTENTIAL DEATH OR SERIOUS INJURY.
This indication alerts you to the fact that ignoring the contents described herein may negatively affect product per-
NOTICE formance and functionality or damage the product itself or the product to which it is being attached.

ENSURE THAT THE FOLLOWING PARTS HAVE BEEN INCLUDED IN THE KIT:

1 Passenger Drink Holder Assembly
1 Bracket
1 Hardware Kit containing
1 Standoff
1 1/4” Flat Washer
1 1/4” Lock Washer
1 Thumb Nut
1 M6 X 1.0 X 30MM Button Socket Cap Screw
1 M6 Flat Washer
1 M6 Lock Washer

YOU WILL ALSO NEED:
Set of hex wrenches, warm, soapy water and a clean rag

NOTICE These installation instructions contain important information. Ensure that the end user receives this copy and is
aware of its importance for future use.
STEP 1 Read and understand all steps in the instructions before starting the installation. Park the motorcycle on a hard, level surface and turn
IGN OFF. \ 3 , = :
Avoid damage to the motorcycle. Protect painted surfac-
NOTICE es with a soft cloth or blanket.
STEP 2 Refer to PIC 1. Open the trunk lid; locate the screw shown in PIC 1.
STEP 3 Remove and discard the screw.
STEP 4 Refer to PIC 1. Using warm soapy water and a clean rag, remove all dirt and

debris from the installation area; allow the area to dry completely.

STEP 5 Refer to PIC 2. Locate and align the included Standoff over the hole.



https://www.motorcycleid.com/kuryakyn/

Hiirvakvnﬁ ‘ 7 INSTALLATION INSTRUCTIONS

PIC3
STEP 6 Locate the included Drink Holder Assembly, Bracket, 1/4” Flat Washer, 1/4” Lock Washer, and Thumb Nut. j

Refer to PIC 3 and 4; place the 1/4” Lock Washer over the Assembly threaded stud; place the 1/4” Flat
Washer over the stud next; insert the threaded stud through the Bracket; secure the Drink Holder to the
Bracket with the Thumb Nut.

STEP 7 Test fit the Drink Holder/Bracket assembly as shown in PIC 5; “hook” the Bracket over the existing support
as shown. Remove the Bracket.

STEP 8 Use your fingernail to rub the adhesive backing; this will activate the adhesive. Remove and discard the
backing.

STEP 9 Again, “hook” the Assembly over the support; ensure that the Standoff remains aligned; press the Bracket

into place for one minute; full bonding will occur after 24 hours.
STEP 10 Locate and assemble the included Screw, M6 Flat Washer, and M6 Lock Washer as shown in PIC 6.
STEP 11 Secure the Bracket with the Screw and Washers.

STEP 12 Loosen the Thumb Nut and adjust the Drink Holder to your liking. Do not over tighten the Thumb Nut!

Itis the end user’s responsibility to ensure that all fasteners (including pre-assembled) are tightened before
NOTICE

operation of the motorcycle. Kuryakyn will not provide warranty coverage on products or components lost or
damaged due to improper installation or lack of maintenance. Periodic inspection and maintenance are
required on all fasteners.

Discover various motorcycle beverage mugs and holders in our online store.


https://www.motorcycleid.com/beverage-mugs-holders.html

